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      X.Y Y 

 

X 

 

4806 4276 4934 20 07 1.  



4761 0701 2103 23 31 7.  

4276 2643 2196 07 02 9.  

2776 0646 2078 06 37 6.  

2776 0094 2338 06 36 6.  

4688 4003 4468 08 09 4.  

4688 2643 4348 08 02 2.  

4761 2371 2891 23 03 0.  

0188 0094 0648 38 36 3.  

4761 4003 4662 23 09 18.  

6388 6973 6118 28 29 11.  

2266 0094 0727 00 36 17.  

2776 0701 2296 06 31 19.  

6224 4806 6370 24 20 16.  

4276 2643 2196 07 02 16.  

4688 0094 2678 08 36 14.  

2371 0094 0944 03 36 12.  

2776 3876 0826 06 36 10.  

4806 0188 2878 20 38 13.  

0188 0094 0648 38 36 78.  

0188 0463 0928 38 39 71.  

4688 4806 4768 08 20 77.  

2371 0094 0944 03 36 79.  

2776 0463 2386 06 39 76.  

2643 0094 0120 02 36 76.  

4688 2643 4348 08 02 74.  

4003 0463 2213 09 39 72.  

4688 2934 4008 08 04 70.  



2643 0463 0831 02 39 73.  

2776 0188 2468 06 38 98.  

4003 0701 2669 09 31 91.  

4761 0094 2674 23 36 97.  

0188 0094 0648 38 36 99.  

2643 0646 0886 02 37 96.  

6373 4761 4809 22 23 96.  

2266 0094 0727 00 36 94.  

0188 0463 0928 38 39 92.  

2266 0094 0727 00 36 90.  

4688 4003 4468 08 09 93.  

6388 6624 6108 28 26 68.  

2934 2266 2640 04 00 61.  

0188 3714 0468 38 34 67.  

4761 2864 4494 23 06 69.  

4688 2864 4278 08 06 66.  

2776 0701 2296 06 31 66.  

666989=∑   688757=∑   666868=∑    6867=∑  7007=∑   
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    =        ( 32 × 330,33 )  –  ( 103,6 × 101,4 ) 

      √ [ 32(339,7)−  ( 103,6)2 ]    [ 32 (324,6) - ( 101,4)2 ] 

 =        (10.570,56)  –  ( 10.505,04 ) 

                    √[ (10.870,4-10.732,96 )]  [ (10.387,2-10.281,96 )]  
 

  

            =   65,52 

                    √[ 137,44 ]  [ 105,24] 

            =           65,52              

                      √ 14.464,19                       

=       65,52 

                    120,27 

            =     0,55 
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